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HOPSA KOULE
[image: image3.wmf][image: image4.wmf][image: image5.wmf]Zkuste nadzvednout spodní kouli a upustit ji dolů. Vyzkoušejte, jak se po dopadu z různých výšek jednotlivé koule odrážejí. 

Pokud zvednete a upustíte koule, jejichž velikost se směrem nahoru zmenšuje, po dopadu a odrazu horní koule dosáhne mnohem větší výšky, než je výška, z níž jste koule pustili.

U koulí, které jsou uspořádány tak, že jejich velikost se směrem nahoru zvětšuje, horní koule po dopadu a odrazu dosáhne jen stěží výšky, z níž jste koule pustili.

Spodní koule po dopadu na podložku a odrazu nemůže volně odskočit, protože narazí na ostatní koule umístěné nad ní. Při tomto nárazu předá těmto koulím určitou část své energie. Horní koule pak odskočí do výšky, která odpovídá její původní polohové energii zvýšené o energie získané od všech spodních koulí. 

Proto malá horní koule odskočí do mnohonásobné výšky a velká horní koule jen sotva do výšky, z níž byly koule upuštěny. 

a) Do jaké výšky by odskočila horní koule, kdyby byly všechny koule stejné?

b) Do jaké výšky by odskočila dolní koule, kdyby byly všechny koule stejné?

HOPPING BALLS 
Try to lift up the ball on the bottom and drop it. Test the amount of rebound of the individual balls after they dropped from various heights. 

When you lift up and then drop the balls whose size decreases in the upward direction you can see as they fall and rebound that the upper ball will reach a much higher position than the height from which you dropped the balls. 

The balls are positioned in the other set in such a way that their size increases in the upward direction, the upper ball will, after the fall and rebound, hardly reach the point from which you dropped the balls. 

The bottom ball after the fall and rebound can not freely spring back because it strikes the other balls placed above it. As it strikes the ball it passes certain part of its energy on to the other balls. The top ball then springs into a height which corresponds with its original potential energy. The top ball position is advanced by the energies it gained from all of the lower balls. 

This is why the small ball rebounds to a multiple height and the big ball hardly reaches the height from which it was dropped. 

a) What height would the top ball reach if all the balls were the same size? 

b) What height would the bottom ball reach if all the balls were the same size?
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